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1 ABIDBLALERR 1 ABRDEAEER 1 ABRDEEEER: 1 ABIDFIEH
e | Ee | e e | Bz | em i | Bke | e B | Bz | e
1 R | 85,621 1 R | 353,186 1 HRE | 652,550 1 X | 9,991
> FEHX | 80,414 2 b= 194,364 2 kX | 442,680 2 X | 9,813
BAlRE 3,68 mrmE (| 397 ) mrmz 1538 ) BAIE 1.148
23 HBFX 35,261 23 fEX 10,771 23 fEX 43,558 23 FEFX 8,987
24 FERR X 23,502 24 FEX 8,905 24 Fapk X 42,691 24 BRX 8,744
Ty 49,021 Ty 40,543 ¥y 104,445 i 9,321
1 ABHIDEDMBOR 1 AHIEDERHETERR 1 ABHIEDEZEFITR
e | Be | e e | Ee | e i | B | e
1 X 2,375 1 X 126,365 1 FRRX 69,801
2 1EX 1,640 2 JEX 73,576 2 X 38,351
BAIE 5148 BaimE (| 13.168 ) BAIRE
23 PafEEF X 515 23 EENX 10,822 23 RBIX 3,377
24 FaRKX 470 24 FaRK X 9,660 24 FEX 2,967
i 754 8.3 21,419 15 9,372
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